

## ZERO-FREE REGION FOR POLYNOMIALS WITH RESTRICTED COEFFICIENTS

P. RAMULU, G.L. REDDY, AND C. GANGADHAR

ABSTRACT. In this paper we prove some extension of the Eneström-Kakeya theorem which says that if  $P(z) = \sum_{i=1}^n a_i z^i$  be a polynomial of degree  $n$  such that  $0 \leq a_n \leq a_{n-1} \leq \dots \leq a_1 \leq a_0$  then  $P(z)$  does not vanish in  $|z| \leq 1$ . By relaxing the hypothesis of this result in several ways one can obtain zero-free regions for polynomials with restricted coefficients and there by present some interesting generalizations and extensions of the Eneström-Kakeya Theorem.

### 1. INTRODUCTION

The well known Results namely Eneström-Kakeya theorem [1, 2] in the theory of the distribution of zeros of polynomials is the following.

**Theorem 1.** *Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n$  such that  $0 < a_0 \leq a_1 \leq \dots \leq a_{n-1} \leq a_n$ , then all the zeros of  $P(z)$  lie in  $|z| \leq 1$ .*

Applying the above result to the polynomial  $z^n P(\frac{1}{z})$ , we get the following result:

**Theorem 2.** *If  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n$  such that  $0 < a_n \leq a_{n-1} \leq \dots \leq a_1 \leq a_0$ , then  $P(z)$  does not vanish in  $|z| < 1$ .*

In the literature [3, 4, 5, 6, 7, 8], there exist several extensions and generalizations of the Eneström-Kakeya theorem.

In this paper we give generalizations of the above mentioned results. In fact, we prove the following results:

**Theorem 3.** *Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n \geq 2$  with real coefficients such that for some  $k \geq 1, \rho \geq 0$  and*

*i)  $ka_0 \geq a_1 \leq a_2 \geq a_3 \leq a_4 \geq \dots \leq a_{n-4} \geq a_{n-3} \leq a_{n-2} \geq a_{n-1} \leq a_n + \rho$  if  $n$  is even,*

*OR*

*ii)  $ka_0 \geq a_1 \leq a_2 \geq a_3 \leq a_4 \geq \dots \geq a_{n-4} \leq a_{n-3} \geq a_{n-2} \leq a_{n-1} \geq a_n - \rho$  if  $n$  is odd.*

*Then*

*i)  $P(z)$  does not vanish in the disk*

$$|z + k - 1| < \frac{|a_0|}{ka_0 + |a_n| + a_n + 2\rho + M_1} \text{ if } n \text{ is even}$$

$$\text{where } M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})],$$

*OR*

---

2010 *Mathematics Subject Classification.* 30C10, 30C15.

*Key words and phrases.* Zeros of polynomial, Eneström-Kakeya theorem.

ii)  $P(z)$  does not vanish in the disk

$$|z + k - 1| < \frac{|a_0|}{ka_0 + |a_n| - a_n + 2\rho + M_2} \text{ if } n \text{ is odd}$$

$$\text{where } M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})].$$

**Corollary 1.** Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n \geq 2$  with real coefficients such that

i)  $a_0 \geq a_1 \leq a_2 \geq a_3 \leq a_4 \geq \dots \leq a_{n-4} \geq a_{n-3} \leq a_{n-2} \geq a_{n-1} \leq a_n$  if  $n$  is even,

OR

ii)  $a_0 \geq a_1 \leq a_2 \geq a_3 \leq a_4 \geq \dots \geq a_{n-4} \leq a_{n-3} \geq a_{n-2} \leq a_{n-1} \geq a_n$  if  $n$  is odd.

Then

i)  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{a_0 + |a_n| + a_n + M_1} \text{ if } n \text{ is even}$$

$$\text{where } M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})],$$

OR

ii)  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{a_0 + |a_n| - a_n + M_2} \text{ if } n \text{ is odd}$$

$$\text{where } M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})].$$

**Corollary 2.** Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n \geq 2$  with positive real coefficients such that for some  $k \geq 1$ ,  $\rho \geq 0$  and

i)  $ka_0 \geq a_1 \leq a_2 \geq a_3 \leq a_4 \geq \dots \leq a_{n-4} \geq a_{n-3} \leq a_{n-2} \geq a_{n-1} \leq a_n + \rho$  if  $n$  is even,

OR

ii)  $ka_0 \geq a_1 \leq a_2 \geq a_3 \leq a_4 \geq \dots \geq a_{n-4} \leq a_{n-3} \geq a_{n-2} \leq a_{n-1} \geq a_n - \rho$  if  $n$  is odd.

Then

i)  $P(z)$  does not vanish in the disk

$$|z + k - 1| < \frac{a_0}{ka_0 + 2a_n + 2\rho + M_1} \text{ if } n \text{ is even,}$$

$$\text{where } M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})],$$

OR

ii)  $P(z)$  does not vanish in the disk

$$|z + k - 1| < \frac{a_0}{ka_0 + 2\rho + M_2} \text{ if } n \text{ is odd}$$

$$\text{where } M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})].$$

**Remark 1.** By taking  $\rho = 0$ ,  $r = 1$  in Theorem 1, it reduces to Corollary 1.

**Remark 2.** By taking  $a_i > 0$ , for  $i = 0, 1, \dots, n$  in Theorem 1, it reduces to Corollary 2.

**Theorem 4.** Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n \geq 2$  with real coefficients such that for some  $0 < r \leq 1$ ,  $\rho \geq 0$  and

i)  $ra_0 \leq a_1 \geq a_2 \leq a_3 \geq a_4 \leq \dots \geq a_{n-4} \leq a_{n-3} \geq a_{n-2} \leq a_{n-1} \geq a_n - \rho$  if  $n$  is even,

OR

ii)  $ra_0 \leq a_1 \geq a_2 \leq a_3 \geq a_4 \leq \dots \leq a_{n-4} \geq a_{n-3} \leq a_{n-2} \geq a_{n-1} \leq a_n + \rho$  if  $n$  is odd.

Then

i)  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1} \text{ if } n \text{ is even}$$

$$\text{where } M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})],$$

OR

ii)  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{2\rho + |a_0| + |a_n| + a_n - r(|a_0| + a_0) - M_2} \text{ if } n \text{ is odd}$$

$$\text{where } M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})].$$

**Corollary 3.** Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n \geq 2$  with real coefficients such that

i)  $a_0 \leq a_1 \geq a_2 \leq a_3 \geq a_4 \leq \dots \geq a_{n-4} \leq a_{n-3} \geq a_{n-2} \leq a_{n-1} \geq a_n$  if  $n$  is even,

OR

ii)  $a_0 \leq a_1 \geq a_2 \leq a_3 \geq a_4 \leq \dots \leq a_{n-4} \geq a_{n-3} \leq a_{n-2} \geq a_{n-1} \leq a_n$  if  $n$  is odd.

Then

i)  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{|a_n| - a_n - a_0 - M_1} \text{ if } n \text{ is even}$$

$$\text{where } M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})],$$

OR

ii)  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{|a_n| + a_n - a_0 - M_2} \text{ if } n \text{ is odd}$$

$$\text{where } M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})].$$

**Corollary 4.** Let  $P(z) = \sum_{i=0}^n a_i z^i$  be a polynomial of degree  $n \geq 2$  with positive real coefficients such that for some  $0 < r \leq 1$ ,  $\rho \geq 0$  and

i)  $ra_0 \leq a_1 \geq a_2 \leq a_3 \geq a_4 \leq \dots \leq a_{n-3} \geq a_{n-2} \leq a_{n-1} \geq a_n - \rho$  if  $n$  is even,

OR

ii)  $ra_0 \leq a_1 \geq a_2 \leq a_3 \geq a_4 \leq \dots \leq a_{n-4} \geq a_{n-3} \leq a_{n-2} \geq a_{n-1} \leq a_n + \rho$  if  $n$  is odd.

Then

i)  $P(z)$  does not vanish in the disk

$$|z| < \frac{a_0}{2\rho + (1-2r)a_0 - M_1} \text{ if } n \text{ is even}$$

$$\text{where } M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})],$$

OR

ii)  $P(z)$  does not vanish in the disk

$$|z| < \frac{a_0}{2\rho + 2a_n + (1-2r)a_0 - M_2} \text{ if } n \text{ is odd}$$

$$\text{where } M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})].$$

**Remark 3.** By taking  $\rho = 0$ ,  $r = 1$  in Theorem 2, it reduces to Corollary 3.

**Remark 4.** By taking  $a_i > 0$ , for  $i = 0, 1, \dots, n$  in Theorem 2, it reduces to Corollary 4.

## 2. PROOFS OF THE THEOREMS

*Proof of Theorem 1.* Let  $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$  be a polynomial of degree  $n$ . Consider the polynomials  $J(z) = z^n P(\frac{1}{z})$  and  $R(z) = (z-1)J(z)$  so that

$$\begin{aligned} R(z) &= (z-1)[a_0 z^n + a_1 z^{n-1} + \dots + a_{m-1} z^{m-1} + a_m z^m + a_{m+1} z^{m+1} + \dots + a_{n-1} z + a_n] \\ &= a_0 z^n (z+k-1) - \{ (ka_0 - a_1) z^n + (a_1 - a_2) z^{n-1} + (a_2 - a_3) z^{n-2} \\ &\quad + \dots + (a_{n-3} - a_{n-2}) z^3 + (a_{n-2} - a_{n-1}) z^2 + (a_{n-1} - a_n) z + a_n \}. \end{aligned}$$

Also if  $|z| > 1$  then  $\frac{1}{|z|^{n-i}} < 1$  for  $i = 0, 1, \dots, n-1$ . Now

$$\begin{aligned} |R(z)| &\geq |a_0| |z|^n |z+k-1| - \{ |ka_0 - a_1| |z|^n + |a_1 - a_2| |z|^{n-1} + |a_2 - a_3| |z|^{n-2} \\ &\quad + \dots + |a_{n-3} - a_{n-2}| |z|^3 + |a_{n-2} - a_{n-1}| |z|^2 + |a_{n-1} - a_n| |z| + |a_n| \} \\ &\geq |a_0| |z|^n \left[ |z+k-1| - \frac{1}{|a_0|} \left\{ |ka_0 - a_1| + \frac{|a_1 - a_2|}{|z|} + \frac{|a_2 - a_3|}{|z|^2} + \frac{|a_2 - a_3|}{|z|^3} \right. \right. \\ &\quad \left. \left. + \dots + \frac{|a_{n-3} - a_{n-2}|}{|z|^{n-3}} + \frac{|a_{n-2} - a_{n-1}|}{|z|^{n-2}} + \frac{|a_{n-1} - a_n|}{|z|^{n-1}} + \frac{|a_n|}{|z|^n} \right\} \right] \\ &\geq |a_0| |z|^n \left[ |z+k-1| - \frac{1}{|a_0|} \{ |ka_0 - a_1| + |a_1 - a_2| + |a_2 - a_3| + |a_3 - a_4| \right. \\ &\quad \left. + \dots + |a_{n-3} - a_{n-2}| + |a_{n-2} - a_{n-1}| + |a_{n-1} + \rho - a_n - \rho| + |a_n| \} \right] \\ &\geq |a_0| |z|^n \left[ |z+k-1| - \frac{1}{|a_0|} \{ (ka_0 - a_1) + (a_2 - a_1) + (a_2 - a_3) + (a_4 - a_3) + \dots \right. \\ &\quad \left. + (a_{n-2} - a_{n-3}) + (a_{n-2} - a_{n-1}) + (a_n + \rho - a_{n-1}) + \rho + |a_n| \} \right] \text{ if } n \text{ is even} \\ &= |a_0| |z|^n \left[ |z+k-1| - \frac{1}{|a_0|} \{ ka_0 + |a_n| + a_n + 2\rho + M_1 \} \right] \end{aligned}$$

where  $M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})]$ .

$$\Rightarrow |R(z)| > 0 \text{ if } |z+k-1| > \frac{1}{|a_0|} \{ ka_0 + |a_n| + a_n + 2\rho + M_1 \}.$$

This shows that all the zeros of  $R(z)$  whose modulus is greater than 1 lie in the closed disk  $|z+k-1| \leq \frac{1}{|a_0|} \{ ka_0 + |a_n| + a_n + 2\rho + M_1 \}$ .

But those zeros of  $R(z)$  whose modulus is less than or equal to 1 already lie in the above disk. Therefore, it follows that all the zeros of  $R(z)$  and hence the zeros of  $J(z)$  lie in

$$|z+k-1| \leq \frac{1}{|a_0|} \{ ka_0 + |a_n| + a_n + 2\rho + M_1 \}.$$

Since  $P(z) = z^n J(\frac{1}{z})$ , by replacing  $z$  by  $\frac{1}{z}$ , we get that if  $n$  is even, all the zeros of  $P(z)$  lie in

$$|z+k-1| \geq \frac{|a_0|}{ka_0 + |a_n| + a_n + 2\rho + M_1}.$$

Hence, if  $n$  is even,  $P(z)$  does not vanish in the disk

$$|z+k-1| < \frac{|a_0|}{ka_0 + |a_n| + a_n + 2\rho + M_1},$$

where  $M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})]$ .

Similarly we can prove for odd degree polynomials. For this we can rearrange the terms of the given polynomial and compute as above. That is if  $n$  is odd then  $P(z)$  does not vanish in the disk

$$|z + k - 1| < \frac{|a_0|}{ka_0 + |a_n| - a_n + 2\rho + M_2},$$

where  $M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})]$ .

This completes the proof of the Theorem 1.  $\square$

*Proof of Theorem 2.* Let  $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$  be a polynomial of degree  $n$ . Consider the polynomials  $J(z) = z^n P(\frac{1}{z})$  and  $R(z) = (z-1)J(z)$  so that

$$\begin{aligned} R(z) &= (z-1)[a_0 z^n + a_1 z^{n-1} + \dots + a_{m-1} z^{m-1} + a_m z^m + a_{m+1} z^{m+1} + \dots + a_{n-1} z + a_n] \\ &= a_0 z^{n+1} - \{(a_0 - a_1)z^n + (a_1 - a_2)z^{n-1} + (a_2 - a_3)z^{n-2} \\ &\quad + \dots + (a_{n-3} - a_{n-2})z^3 + (a_{n-2} - a_{n-1})z^2 + (a_{n-1} - a_n)z + a_n\}. \end{aligned}$$

Also if  $|z| > 1$  then  $\frac{1}{|z|^{n-i}} < 1$  for  $i = 0, 1, \dots, n-1$ . Now

$$\begin{aligned} |R(z)| &\geq |a_0||z|^{n+1} - \{|a_0 - a_1||z|^n + |a_1 - a_2||z|^{n-1} + |a_2 - a_3||z|^{n-2} \\ &\quad + \dots + |a_{n-3} - a_{n-2}||z|^3 + |a_{n-2} - a_{n-1}||z|^2 + |a_{n-1} - a_n|z + |a_n|\} \\ &\geq |a_0||z|^n \left[ |z| - \frac{1}{|a_0|} \left\{ |a_0 - a_1| + \frac{|a_1 - a_2|}{|z|} + \frac{|a_2 - a_3|}{|z|^2} + \frac{|a_2 - a_3|}{|z|^3} \right. \right. \\ &\quad \left. \left. + \dots + \frac{|a_{n-3} - a_{n-2}|}{|z|^{n-3}} + \frac{|a_{n-2} - a_{n-1}|}{|z|^{n-2}} + \frac{|a_{n-1} - a_n|}{|z|^{n-1}} + \frac{|a_n|}{|z|^n} \right\} \right] \\ &\geq |a_0||z|^n \left[ |z| - \frac{1}{|a_0|} \left\{ |a_0 - ra_0 + ra_0 - a_1| + |a_1 - a_2| + |a_2 - a_3| + |a_3 - a_4| \right. \right. \\ &\quad \left. \left. + \dots + |a_{n-3} - a_{n-2}| + |a_{n-2} - a_{n-1}| + |a_{n-1} + \rho - a_n - \rho| + |a_n| \right\} \right] \\ &\geq |a_0||z|^n \left[ |z| - \frac{1}{|a_0|} \left\{ (a_1 - ra_0) + (1-r)|a_0| + (a_1 - a_2) + (a_3 - a_2) + (a_3 - a_4) + \right. \right. \\ &\quad \left. \left. \dots + (a_{n-3} - a_{n-2}) + (a_{n-1} - a_{n-2}) + (a_{n-1} + \rho - a_n) + \rho + |a_n| \right\} \right] \text{ if } n \text{ is even} \\ &= |a_0||z|^n \left[ |z| - \frac{1}{|a_0|} \left\{ 2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1 \right\} \right] \end{aligned}$$

where  $M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})]$ .

$\Rightarrow |R(z)| > 0$  if  $|z| > \frac{1}{|a_0|} \{2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1\}$ .

This shows that all the zeros of  $R(z)$  whose modulus is greater than 1 lie in the closed disk

$$|z| \leq \frac{1}{|a_0|} \{2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1\}.$$

But those zeros of  $R(z)$  whose modulus is less than or equal to 1 already lie in the above disk.

Therefore, it follows that all the zeros of  $R(z)$  and hence the zeros of  $J(z)$  lie in

$$|z| \leq \frac{1}{|a_0|} \{2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1\}.$$

Since  $P(z) = z^n J(\frac{1}{z})$ , by replacing  $z$  by  $\frac{1}{z}$ , we get that if  $n$  is even, all the zeros of  $P(z)$  lie in

$$|z| \geq \frac{|a_0|}{2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1}.$$

Hence if  $n$  is even,  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{2\rho + |a_0| + |a_n| - a_n - r(|a_0| + a_0) - M_1}.$$

where  $M_1 = 2[(a_2 + a_4 + \dots + a_{n-4} + a_{n-2}) - (a_1 + a_3 + \dots + a_{n-3} + a_{n-1})]$ .

Similarly we can prove for odd degree polynomials. For this we can rearrange the terms of the given polynomial and compute as above. That is if  $n$  is odd then  $P(z)$  does not vanish in the disk

$$|z| < \frac{|a_0|}{2\rho + |a_0| + |a_n| + a_n - r(|a_0| + a_0) - M_2}.$$

where  $M_2 = 2[(a_2 + a_4 + \dots + a_{n-3} + a_{n-1}) - (a_1 + a_3 + \dots + a_{n-4} + a_{n-2})]$ .

This completes the proof of the Theorem 2.  $\square$

#### REFERENCES

- [1] Dewan, K.K. and Bidkham, M., *On the Eneström-Kakeya Theorem I.*, J. Math. Anal. Appl. **180** (1993), 29–36.
- [2] Eneström, G., Remarque sur un théorème relatif aux racines de l'équation  $a_n + \dots + a_0 = 0$  où tous les coefficient sont et positifs, Tôhoku Math.J **18** (1920), 34–36.
- [3] Joyal, A., Labelle, G. and Rahman, Q.I., *On the location of zeros of polynomials*, Canad. Math. Bull. **10** (1967), 53–63.
- [4] Kakeya, S., *On the limits of the roots of an algebraic equation with positive coefficient*, Tôhoku Math.J **2** (1912–1913), 140–142.
- [5] Kurl Dilcher, *A generalization of Eneström-Kakeya Theorem*, J. Math. Anal. Appl. **116** (1986), 473–488.
- [6] Marden, M., *Geometry of Polynomials*, IInd. Edition, Surveys 3, Amer. Math. Soc., Providence, 1966 R.I.
- [7] Milovanoic, G.V., Mitrinovic, D.S. and Rassias Th.M., *Topics in Polynomials, Extremal problems, Inequalities, Zeros*, World Scientific, Singapore, 1994.
- [8] Zargar, B.A., *Zero-free regions for polynomials with restricted coefficients*, International Journal of Mathematical Sciences and Engineering Applications, Vol. 6 No. IV (July 2012), 33–42.

DEPARTMENT OF MATHEMATICS  
GOVT.DEGREE COLLEGE  
WANAPARTHY, MAHABUBNAGR, TELANGANA,INDIA 509103.  
E-mail address: ramulu.purra@gmail.com

SCHOOL OF MATHEMATICS AND STATISTICS  
UNIVERSITY OF HYDERABAD, INDIA 500046.  
E-mail address: glrsm@uohyd.ernet.in

SCHOOL OF MATHEMATICS AND STATISTICS  
UNIVERSITY OF HYDERABAD, INDIA 500046.  
E-mail address: gangadharmath@gmail.com